jrn
o

KECS

AOAAES (F)

KCC Co., Ltd.

ACSS5 series

ACS5 serles

ACS5 N-B32-S150

Rt
o 25 4 Tt SO
5 2

I-| Ch.

o 2oz
As HES

tASLICE

o (AE|QI2]A E8)

HA7|E
EE5/MEE chE/22L (5)
2/2c oE/E2()

AT
Acss - (v () - s(so) () () L) L)L) L)
@ @ © o ® ® @ ©) @
HZ O =
© Al2iZ R S
ACS5 25 H2C AF 420 :.7;3— ! H@o‘z o T
ACT Y =8 == 48 JeEld TJl2 GoEermal | 6o
ACS5A HE H2C A Al2IH (0 of FM) K |:||211I_E1| EEEI_A 110?(7
ACS5A W 2E g2C A3 42 (o7 4) T
@ MoaT
2= MEHE (HEFE):1H
@ 287N | [ESEEETIS
N SIRYES) | Y 24 LS8
REARIR FF
S oy ERE oy
72 D-C72K H7A1 D-H7ATK
2|52]2] &Al 73 D-C73K H7A2 D-H7A2K
5 pETT & SajbiA LA 76 D-C76K H7B D-H7BK
T mes R | 2cz e e 80 D-C80K
FA 2C= Zalz|y TH FEZ ER2|LI=2Y % A2|2 B2tdof HZELCH o
FB =t ;EHZ:%i BC OL/\E'-IE 11|2a * GHE S [101-10, 19 PAGES Bl SHEAl2
=== = —_— A TS
CA 14 SYHIAY BF BAZHE Zaiz|3 © SEAL|Z| A2t
— = —"T| T o
AFZ2HIASH AFHE Ez{L|2HA
CB | 2MZHAE | BT | SAYE ERUSH e o
S 17§
N N N7§ (N: 3, 4,5..)
@ :_:L;;HM - . - - 5 2903 20| AU
LhZ (mm) 220 025 032 940 EAALY
218 gorst
W CH AR (Y2 EH)

N AS) 25mmUf ARIA| 7P Y 23
OICERRC BS) SommUf Z1ZIA| 71 s 23
~— =
o 5z sv TEEPHE

g;o ; s EEPETIEPN
025 25,50, 75, 100, 125, 150, 175, 200, 250, @ RS BIAl
gjé 300, 350, 400, 450, 500 e ST
S chsdzl
* WYSO00I2 ACSAZ 223 2442 = Geszl
« £ 93 ool 37 A 2Ry HELt T Tt
% 2B RAILGE 2EMCE SA IS [1]-140PAGES 2150 % ACS5 32 2ali7t 275510 A2 Wk 2758
ZHAI2.

www.kccpr.com



A O A ALE S (

KCC Co., Ltd.

=
e

)

ACSS5 series

5 A =
2y el (A Qle|A FE)
o
AH
oo
Al =R _ 2{20t5
- S alEE e \ ChE Mzl / S5 33 -
AHERA| 27 Sotatse
CESEIE] 14.7kgf/at (1.5MPa) AP
2 TAR Y 9.9kgf/art (1.0MPa)
B — 0.5kgf/ai 0.8kaf/ot (0.08MPa) #20: 1 8kgf/oi (0.18MPa) 1 8kgf/oi KGUA
2= (0.05MPa) -oxgt/em (L. a 5 21: 2 3kgf/ci (0.23MPa) (0.18MPa)
_ -10C ~ 70C(LEAR|A| 818)
ROl D_I 20 < _ = ACP
A 2 F4: 50~750mm/s . 2 F4:
LQIIAE & ' Ll ~
ABTIAE S5 offof 244: 50~1000mm/s =18 743: 50-750mm/s 15~300mm/s ACD
sl 2t 4, oo M4 2t M 2t M
032 a
LEARS 2t KS 28 ACS4
#HU0| 582t ~500°T: *34
ACS5
= = o gAI
Z| 2R A HA il T8
ACR
215 207) 34l ~5 |28 2CE | HCE [ZeUA|_ 1M | TN | ZEE | FCZ | BAZ | HAzl | BA3
T 212 24 BEY Zey | gl | 2uay | QMY | SaHlad 202y ey sl EzY | BUXY sUSy
- = = ACM
Az LA @171 @) e(17H) | e(17H) - - - To(17h) | T'e(17h) @7 | @) e(17H)
HEZ2 ZEMOHE | @ ° ° ° ° ° ° ° ° ° ° °
sauagE | - - : - - - 0 : : : : : Act
TMUZRE | @ ° ° ° ° ° ° ° ° ° ° °
SH | HBR0UE| @ ° ° ° ° ° ° ° ° ° ° ° ACX
FECES ° ° ° ° ° ° ° ° ° ° ° °
% Z1)RCE E2|LI2Y, HCE E2\LSYO E2ILIR LEJ} B8 50f YSLICH KLC
% 2241 Sefb|A 8 20 142 ZOIEQ|= B, Adi2io] 58 E3tELT,
x F3)2H|AE THojle AYMO| E&ELICEH
s YO REMTHAET} 27 ZFELICH KLCS
AF, ADF
= o B =
Z|2R A 27+ SH AFM,
ADFM
- - S5LHE(mm) -
2|92)2| 2 EIESESCEAE =2 U (24 22 24
A s 020 ?25 [ 032 40 it @l4 2 224D ANG
ZustnE 1ZQ7M) LB 20 LB 25/32 LB 40(2F) ZE JJf, Az|HE 278
ZaH3| 17 FA/FB 20 FA/FB 25/32 FA/FB 40(2F) ZaKz| 17, x| HE 1]
148 SH|A 17 CA 20 CA 25/32 CA40(E) 1AF 24H|A 174
N 24 22fH|A 17,
24 2 H|A 174 CB 20 CB 25/32 CB 40(¥¥) EFTEN ]‘IE_| 1|7|'||, i\_l:l‘illlgbl 274
ELe 174 TC 20 TC 25/32 TC40(¥E) E{L2 174, ER{YR HE 174
o B =
Sl =
— -
) 020 25, 932 40
1A {2200 120 125/32 140
24 HBR01E Y20 Y25/32 Y40
% ACS5 408 dHta+e S-AR|2 ACM 402 SYBIL T
x MOa7e ACS2 Al2| 22t SY oA AtEELICt (RIMISH LHE2 [1]-37 PAGEES 211 5HAI2)

www.kccpr.com



A O ALAL Y

s (F)

KCC Co., Ltd.

ACS5 series

Y8
ctel: kg
B ma2Cc B o2 C
vl i) 020 | 025 j(cla;z 040 | 220 | 025 Of(cla;z 040
BEY 0.150 | 0.228 | 0.280 | 0.568 | 0.171 | 0.271 | 0.320 | 0.659
nEY 0.224 | 0.306 | 0.358 | 0.720 | 0.245 | 0.349 | 0.398 | 0.811
22421 0.194 | 0.280 | 0.332 | 0.676 | 0.215 | 0.323 | 0.372 | 0.767
S2fH|A AHH 0.130 | 0.208 | 0.270 | 0.528 - - - -
7%' 14k S| A8 0.200 | 0.280 | 0.332 | 0.696 - - - -
| 24 S3H|AY (W) | 0210 | 0.288 | 0.340 | 0.730 - - - -
° EjL=2d 0.190 | 0.298 | 0.340 | 0.668 | 0.211 | 0.341 | 0.380 | 0.759
BAZ BEY 0.140 | 0.208 | 0.260 | 0.538 - - - -
BAZ EMAY 0.180 | 0.258 | 0.310 | 0.648 - - - -
BAz EL2Y 0.180 | 0.278 | 0.320 | 0.638 - - - -
S0 A SIS 0.048 | 0.068 | 0.076 | 0.132 | 0.720 | 0.102 | 0.124 | 0.193
= 14 HEROIE 0.056 | 0.056 | 0.056 | 0.166 - - - -
g 2AHHSR0IE (BIR2h | 0.074 | 0.072 | 0.072 | 0.220 - - - -
™ 2CyHE 0.002 | 0.008 | 0.008 | 0.016 - - - -
A e
1. 85 H2E

12

ofl) ACS5-N-LB32-5100
7|E5% 0.358(FEP32) / S7H5E: 0.076/50 / A2I3H™: 100mm
0.358 + 0.076/50 X 100 = 0.51kg

22598
o) ACS5W-N-LB32-5S100
22k 0.398(FEH@32) / 37123 0.124/50 / A2 100mm

0.398 +0.124/50 X 100 = 0.646kg

www.kccpr.com

A

=5}

A

=

(=2

—

O (&HIQl2(A JFE)



E ;<|(o:|§| Egg (L;_(? ACS5 series

A% MG (AEQla|A §5/010{F4)

HEH(ES9Y) ACS5-NB

AJP

(0 @) EE(BI(I(? 3 KGUA

ACP

B et 2ot R R
= - e

1

ACS5
ACR
ACM
BAZHEH ACS5-N BC Al
ACX
v N \\ ” | KLC
H
{ % | | el KLCS
AF, ADF
AFM,
ADFM
ANG
ks Haoy P Clin} e I 24 FEUZ
1 2c EbAZt Ax 3253 @20 @25 @32 @40
— 15 oo NBR DRP8 DRP10 DRP12 DRP14
2 2E7}4 UR0lE BE | A Op=CtO|Z
YEhED - - _ _
3 CI=HIET U20|5 S | A OeCto| 16 | =aue NBR
TI|AETIRZ]
2 ST o=0/s B2 S OF CHO| 2 17 |AETHY NBR OPA20 OPA25 OPA32 OPA40
cog|
5 sRlgEY AEfOlA 2 N 18 Zeed NBR S6 S6 S8 S10
6 nAE U205 B2 -
7 244 O UR0E B2 -
8 MY UR0lE B2 -
9 FHHE | UR0|E 2 -
10 gz EABTY -
11 T2 9kA ool zay -
12 24 2ZERES -
13 ZA] - .
14 2o | -

www.kccpr.com - 45



E Lf%% Egg— !‘g ACS5 series

A% ARG (AEQI2|A £1)

—

oM . =G RcPT>
KK
_\ Tilh T J— Y
5 i
SELIARIO|
A B H W W OVA
T L+STROKE H
TL+STROKE
TH2imm
EQUYA SELIAFZO| A B oC @D H KK L M PA Rc(PT) T TL
220 15.5 18 5.0 27 8 13 M8X1.25 62 M20X1.5 8 1/8 41 116
025 19.5 22 5.5 33 10 13 M10X1.25 62 M26X1.5 8 1/8 45 120
032 19.5 22 55 37.5 12 13 M10X1.25 64 M26X1.5 8 1/8 45 122
240 21.0 24 7.5 46.5 14 16 M14X1.50 88 M32X2.0 " 1/4 50 154
g4 OVA W
@20 24 15
@25 30 15
@32 34,5 15
240 42.5 21

v
L

Rc®PT Rc(PT)
A PA

] 2H

H
/x KK_\ CETINEI| ) [
(&) =
2-4LC & % >_< >\:4J
z A __|B ) 4-3LD
TiT T TiT TiT M W | > T :':,
Y X L +STROKE X Y !
\,ZQ L S+STROKE.
L7 TL+STROKE.
CHelimm
FEUE | REUARO A B @D H KK L @LC @LD LH LS LT LX
@20 15.5 18 5.0 8 13 M8X1.25 62 4 6.8 25 102 3 40
@25 19.5 22 5.5 10 13 M10X1.25 62 4 6.8 28 102 3 40
@32 19.5 22 5.5 12 13 M10X1.25 64 4 6.8 28 104 3 40
@40 21.0 24 75 14 16 M14X1.50 88 4 7.0 30 134 3 55
E=L Lz M PA | Rc(PT) T TL w X Y
@20 55 M20X1.5 8 1/8 41 118 15 20 8
@25 55 M26X1.5 8 1/8 45 118 15 20 8
®32 55 M26X1.5 8 1/8 45 120 15 20 8
@40 75 M32X2.0 11 1/4 50 158 21 23 12

46 www.kccpr.com



KCC Co., Ltd.

AOAAES (F)

ACSS5 series

28 ARG (AEQl2|A £8)
=] 5| A = IT =
IX|+E-2ES SHUA[H (FA)
iy =1
4-gFD a2
/ " Rc(PT> RCPD p,  22M
L 2-gFD KK - — AJP
N\% % \ 9 T Tl £,
N - KGUA
g N S‘ a
™~ KLkl E:é — ACP
k\J \ A B FTH
FX VA H | W W
FX T L+STROKE H ACD
Fz F7 TL+STROKE
(940> (@20~232) ACS4
Thel:imm
= S= ACS5
BHUE | RELAZO| A B @D @FD FT FX FY FZ H KK L M
@20 15.5 18 5.0 8 7 32 60 - 75 13 M8X1.25 62 M20X1.5
@25 19.5 22 5.5 10 7 45 60 - 75 13 M10X1.25 62 M26X1.5 ACR
@32 19.5 22 5.5 12 7 45 60 - 75 13 M10X1.25 64 M26X1.5
@40 21.0 24 75 14 7 45 66 36 82 16 M14X1.50 88 M32X2.0 ACM
EdLZ PA | Rc(PT) T TL W Y ACL
@20 1/8 41 116 15 40
@25 1/8 45 120 15 42 ACX
?32 8 1/8 45 122 15 42
@40 11 1/4 50 154 21 52 KLC
S A = — - KLCS
Az FE-5|ES SR (FB)
AF, ADF
4-¢FD ey
2-M pp RSP RSP pp / ety
KK -] = L 2-¢FD
\ T TiT
‘ he ANG
- AN
S —s &[ 7 g P
FELIARO|
A B i ) | \() \
H | W W _|FT FX VA
T L+STROKE H — FX
TL+STROKE Fz
(®40> (@B20~832)
CHlimm
SEUZE | RELIAZO] A B @D @FD FT FX FY FZ H KK L M
@20 15.5 18 5.0 8 7 32 60 - 75 13 M8X1.25 62 M20X1.5
@25 19.5 22 5.5 10 7 45 60 - 75 13 M10X1.25 62 M26X1.5
@32 19.5 22 5.5 12 7 45 60 - 75 13 M10X1.25 64 M26X1.5
@40 21.0 24 75 14 7 45 66 36 82 16 M14X1.50 88 M32X2.0
E-H PA | Rc(PT) T TL W \%
@20 8 1/8 41 116 15 40
@25 1/8 45 120 15 42
?32 1/8 45 122 15 42
@40 11 1/4 50 154 21 52

www.kccpr.com



E tf,g% Egﬂ !‘g ACS5 series

A% ARG (AEQI2A £85)

ez|eE-14E S2B|AY (CA)

M PA Rc(PT) Rc(PT) PA g1

KK #CD
TiTh TiT R

m__z\ /A //i::s;ff
sl [C \A N ]
S ELIARIO| ktj
A Bl | v T W U e
T L+STROKE CR CVA
Z+STROKE R
TL+STROKE
CH2limm
SEUHAE | SELMRZO | A B ocC @CD CR CX @D H KK L M PA
@20 15.5 18 5.0 27 9 30 10 8 13 M8X1.25 62 M20X1.5
@25 19.5 22 55 33 9 30 10 10 13 M10X1.25 62 M26X1.5
?@32 19.5 22 5.5 37.5 9 30 10 12 13 M10X1.25 64 M26X1.5
@40 21.0 24 75 46.5 10 39 15 14 16 M14X1.50 88 M32X2.0 11
EQA R Rc(PT) T TL u CVA w z
@20 9 1/8 41 142 14 24 15 133
@25 9 1/8 45 146 14 30 15 137
?32 9 1/8 45 148 14 345 15 139
@40 11 1/4 50 188 18 425 21 177
QYz|+E-24F 2H[AY (CB)
M o Rc(PT) Rc(PT) o -
KK _\ $CD
TiTh i Tl —_— &Y
2\ p D
7 N A
A ) AT
R =LA Y N
A Bl |LH W W u &
r L +STROKE CR I
Z+STROKE R oA
TL+STROKE
CHelimm
FEUE | REUARO A B @C @CD CR X z @D H KK L M
@20 15.5 18 5.0 27 9 30 10 19 8 13 M8X1.25 62 M20X1.5
@25 19.5 22 5.5 33 9 30 10 19 10 13 M10X1.25 62 M26X1.5
®@32 19.5 22 5.5 37.5 9 30 10 19 12 13 M10X1.25 64 M26X1.5
@40 21.0 24 75 46.5 10 39 15 30 14 16 M14X1.50 88 M32X2.0
E=L PA R Rc(PT) T TL u OVA W Z
@20 9 1/8 41 142 14 24 15 133
@25 9 1/8 45 146 14 30 15 137
@32 9 1/8 45 148 14 345 15 139
@40 11 11 1/4 50 188 18 425 21 177

48 www.kccpr.com



E ;<|(o:|§| Egg (L;_(? ACS5 series

2o ey (&HQl2|A FE)

2| -2 H|L LAY (CD)

M RcCPTY RcCPTY
PA PA 1868
KK ®CD
T AT / & AJP
N g ~
Q KGUA
s a PN
251tA1Z0| % y&/
- —— ACP
8
A B H | w W [
T L+STROKE u oVvA
Z+STROKE R ACD
TL+STROKE -
ACS4
TH2l:mm
= o | ACS5
SEUWE | RELARZO] A B @C @CD X @D H KK L M PA R
220 15.5 18 5.0 27 8 12 8 13 M8X1.25 62 M20X1.5 8 9
@25 19.5 22 5.5 33 8 12 10 13 M10X1.25 62 M26X1.5 8 9 ACR
?32 19.5 22 55 37.5 10 20 12 13 M10X1.25 64 M26X1.5 8 12
@40 21.0 24 7.5 46.5 10 20 14 16 M14X1.50 88 M32X2.0 1 12 ACM
EBUE | Rc(PT) T TL U OVA W yA ACL
©20 1/8 41 124 12 24 15 115 -
025 1/8 45 128 12 30 15 119 ACX
@32 1/8 45 136 15 345 15 124 -
@40 1/4 50 165 15 425 21 153 KLC
= _ KLCS
QIR E-2EE E2{LL (TR)
AF, ADF
A Rc(PT> RcPT) -M AFM,
PA PA ADFM
K| -
\ /- TiTh 1R ANG
N\ L
gg‘ 1 ﬁ% F > al (K2
¢9 J \ L_ ) e AN
o . >.\\r/
5 2aLARI0|
N U i
]
VA A B TT|_ W W
X T L+STROKE H
17 TL+STROKE
EHelimm
EEHUZE | SELIAIZO| A B @D H KK L M PA | Rc(PT) T @TD TL
220 15.5 18 5.0 8 13 M8X1.25 62 M20X1.5 8 1/8 41 8 116
@25 19.5 22 5.5 10 13 M10X1.25 62 M26X1.5 8 1/8 45 9 120
032 19.5 22 55 12 13 M10X1.25 64 M26X1.5 8 1/8 45 9 122
@40 21.0 24 7.5 14 16 M14X1.50 88 M32X2.0 1 1/4 50 10 154
SEUWE T X @TY TZ W z
?20 10 32 32 52 15 36
@25 10 40 40 60 15 40
@32 10 40 40 60 15 40
@40 1 53 53 77 21 445

www.kccpr.com - 49



E Lf%% Egg— !‘g ACS5 series

2y J2ly (&HQl2|A FE)

Rc(PT) Rc(PT>

iy —_—
A (=
A ) © -
sy S WY SE
FELARO| | | ) 5
A _|p b v W |11 VA
T L+STROKE X
Z+STROKE 1z
TL+STROKE
THelimm
EQNE | SELtAIZ0] | A B @D H KK L M PA | Rc(PT) | T @TD L
©20 15.5 18 5.0 8 13 M8X1.25 62 M20X1.5 8 1/8 41 8 118
?25 19.5 22 5.5 10 13 | M10X125 | 62 M26X1.5 8 1/8 45 9 122
@32 19.5 22 5.5 12 13 | M10X1.25 | 64 M26X1.5 8 1/8 45 9 124
?40 21.0 24 75 14 16 | M14X150 @ 88 M32X2.0 11 1/4 50 10 154
CLITE] T > oTY Tz w z
?20 10 32 32 52 15 108
®25 10 40 40 60 15 112
032 10 40 40 60 15 114
?40 11 53 53 77 21 | 1435
=15 A =
AR L E-HATEY (BO)
THTh T
TL+STROKE

SIS FHHte| LIAF 22 A|H5H0 HA| Z01E SAMT Efe R Fats7te| S45 JusiASLIC
Compact 2AZIEH U 24 Bl (YD) B|@)
SEUZE (mm) TL 220 @25 ?32 @40
020 103 -13 -13 -13 -16
@25 107 s S22 B2 (BC), 2ES S22/ (BF), 2EZ E2{LIRF(BT)
232 109 s 7|EFBI|BHR] @ 2|4-E ACSS EE Y SYFLICH
@40 138

- 50 www.kccpr.com



E ;<|(o:|§| Egg (L;_(? ACS5 series

A% AT (AEQIR|A £8)

T Th 1R
o AJP
G £ I
1= ;B |
® KGUA
® I
ACP
8l s | F
t+s
TL+ S +STROKE ACD
ACS4
TH2:mm
S5 F ?G s t TL Al J K ACS5
220 16 39 0.33%+3 56 131 212 U2 EER | Yo 22A
@25 16 39 0.334%+3 60 135 e 60T 110C ACR
232 16 39 0.33%+3 60 137
240 18 40 0.253%+3 67 171 ACM
7|Et B7|5A| 42 2| 4= ACS5 B2 SUBIL|CH
2220 SUSHES 224510) ZFLICH ACL
ACX
=] 5| A _ =
QAR LE-UZEF (W)
KLC
| Rc(PT) Rc(PT)
2-M PA PA KLCS
KK ,7 KK —_—
(R 1L AF, ADF
a R J a AFM,
S| A\ - ] ADFM
SELIAIZO| S sLIAIZO|
1 1 B A ANG
A B H W W H —_——
T L+STROKE T+STROKE
TL+2xSTROKE
chel:mm
SEUE | RELARO] A B @D H KK L M PA | Rc(PT) T TL W
220 15.5 18 5.0 8 13 M8X1.25 62 M20X1.5 8 1/8 41 144 15
@25 19.5 22 5.5 10 13 M10X1.25 62 M26X1.5 8 1/8 45 152 15
?32 19.5 22 5.5 12 13 M10X1.25 64 M26X1.5 8 1/8 45 154 15
240 21.0 24 7.5 14 16 M14X1.50 88 M32X2.0 1 1/4 50 188 21

www.kccpr.com - 51



KCC Co., Ltd.

ACSS series

O AAZS(F)
A% M2t (AFolz|A §8)
= = "
Y2 CHEY Al (TwW)
EEE Y, 2719 dEHE YA sAAH dElH HEE 21 HE0] 3THAZ Hojgs ASLITH
FEA B|1E: ARE + BHY
o) 150+200 (A= =150, B2 =200)
® CD @ B @® A B @D M ®CO A
Ll | | W | | 1 f ' 14 |
| \ \ \ | \
= | - = = = 1= =t t——=
BE A
®, ® ZEo| 3YS 5=t ©, OZEO| 3YES 3ZotH ®, OZEO| S 3=5tH ®, OZEO| 3YES 3=tH,
A, BHE 2 =g ct A, BHHO| 2L Ct BHHO| 2F Lt Aol 25 8L Ct
=15 A = =
QAR +E-UZEEY CHEHRY Aalr (TW)
B STROKE A STROKE C._f-c.’—limm
=] = FR43 M| X
— p m— @20 | 232 | 26
@25 | 240 | 26
?32 | 244 | 26
X @40 | 310 | 34
TL+STROKECA+BD
HAUA| 7t 23S dalE (AS), BS))
HEE H2UA| HES PA HHYO|M 0~50mm7tA| 6| E&0f Y 2P 7|FE F2loto] ML HHS ZFTL|Ct
B (A]
! |
[
frevd
AS): 25mm 2
BSJ : 50mm Z&
Zdo| XSJ:Xmm 28 (X AFEAL A1)
=15 A = =
QYR[FE-MRIA| 71HMY =AY Al (AS), BS))
T 7T EL KK
avi
S
1S
|| ! :
MK
STROKE ML+xmz |
MH+STROKE+Z2&
TL+2xSTROKE+Z A2k
CHelimm
CLEWP KK MH | oMl | MK ML L
?20 M8X1.25 47 20 8 20 150
@25 M10X1.25 | 49 25 10 22 156
?32 M10X1.25 | 49 25 10 22 158
©40 M14X1.50 | 60 30 12 26 198
- 52 www.kccpr.com



KCC Co., Ltd.

AOLALALE S (—r)

ACSS5 series

5 Al =
A A2 (AEQI2|A £2)
=15 A _ =
QAUR|FE-EE HM2U(S), TE =2I(T)
2212
ChE M2y
oM Rc(PT> Rc(PT> AP
KK
AR 1R KGUA
a / ACP
2&LIARIO0| J
i | ACD
A H | W W VA
T L+STROKE H ACSA
TL+STROKE
ACS5
thEs =22y ACR
oM Rc(PT) RcCPT)
PA
KK ACM
\_ [TITh TIT K
/‘ ACL
A
- J
F2LARIO| ACX
A |B H | W W avA KLC
T+STROKE L+STROKE H
TL+2 STROKE
KLCS
AF, ADF
CH2limm
S8 FELIAZO| A oC @D H KK PA |Rc(PT)| T | OVA | VB M W AFM,
320 155 18 28 8 13 M8x1.25 8 | 18 | 41 | 24 | 15 M20x15 15 ADFM
025 19.5 22 55 | 335 10 13 M10x1.25 8 | 1/8 | 45 | 30 | 15 | M26x15| 15
32 19.5 22 5.5 375 12 13 M10x1.25 8 1/8 | 45 | 345 15 [M26x1.5] 15 ANG
040 21 24 75 | 465 14 16 M14x1.5 11 | 1/4 | 50 | 425 | 215  M32x2.0 | 21
ol :mm
~_AE=23 1~50 51~100 101~150 151~200 201~250
SEHUF~_ [ L L L L L L L L L L
@20 87 141 | 112 | 166 | 137 | 191 - - - -
025 87 145 | 112 | 170 | 137 | 195 5 = = =
032 89 147 | 114 | 172 | 139 | 197 | 164 | 222 i -
40 113 | 179 | 138 | 204 | 163 | 229 | 188 | 254 | 213 | 279
A
LigE A2 (SV) EE AHQIA (SS)
150C 72| D22] FYRUNAM AL 7tsotA HEE THES ELCO| BCO| M2IA| 20| 24 S22 QIS U ol 2A]
2ot daif Yot 9| 247t Y= 0l AFERLICE
o) o)
AFE ArQf
ER 238y ER 238¥
A2l E5UE @20, @25, @32, @40 A2l EEUZ @20, @25, @32, @40
zoee 20 ~ 150C 2 2 AE|QI2|AZH(SUS 303)
o 243 =212(VITON)

www.kccpr.com



